A UNIQUENESS THEOREM FOR MEROMORPHIC MAPPINGS WITH A SMALL SET OF IDENTITY

KHANH TRINH BUI, DUC QUANG SI AND VAN TAN TRAN

Abstract

The purpose of this article is to show a uniqueness theorem for meromorphic mappings of \mathbb{C}^m into $\mathbb{C}P^n$ with truncated multiplicities and a small set of identity.

1. Introduction

In 1983, L. Smiley [7] showed that

Theorem S. Let f, g be linearly nondegenerate meromorphic mappings of \mathbb{C}^m into $\mathbb{C}P^n$. Let $\{H_j\}_{j=1}^q \ (q \geq 3n+2)$ be hyperplanes in $\mathbb{C}P^n$ in general position. Asumme that

- (a) $f^{-1}(H_j) = g^{-1}(H_j)$, for all $1 \le j \le q$, (b) $\dim(f^{-1}(H_i) \cap f^{-1}(H_j)) \le m-2$ for all $1 \le i < j \le q$, and (c) f = g on $\bigcup_{j=1}^q f^{-1}(H_j)$.
- Then $f \equiv g$.

In [2]–[5], [8], [10] the authors and others extended the result of L. Smiley to the case where the number of hyperplanes is replaced by a smaller one and multiplicities are truncated by a positive integer bigger than 1. There are now many different results for the uniqueness problem with few hyperplanes. However, so far, in all results on the uniqueness problem of meromorphic mappings into $\mathbb{C}P^n$ with truncated multiplicities, the condition (c) on the identity set in the above theorem occurs. The main purpose of this paper is to give a uniqueness theorem for meromorphic mappings of \mathbb{C}^m into $\mathbb{C}P^n$ with truncated multiplicities and a smaller set of identity, in particular, the number of hyperplanes which appear in the above condition (c) will become to be only (n+1). Our methods are quite different from those used in the proofs of previous unicity theorems. This comes from the fact that with only (n+1) hyperplanes (in the condition (c)), generally, we cannot use any more the Second Main Theorem for meromorphic mappings and these hyperplanes.

Mathematics Subject Classification 2000: Primary 32H30, Secondary 30D35. Keywords: Meromorphic mappings, uniqueness problem, linearly nondegenerate. Received November 21, 2007; revised March 10, 2008.

2. Preliminaries

We set
$$||z|| = (|z_1|^2 + \dots + |z_m|^2)^{1/2}$$
 for $z = (z_1, \dots, z_m) \in \mathbb{C}^m$ and define $B(r) := \{z \in \mathbb{C}^m : |z| < r\}, \quad S(r) := \{z \in \mathbb{C}^m : |z| = r\}$ for all $0 < r < \infty$.

Define

$$d^{c} := \frac{\sqrt{-1}}{4\pi} (\overline{\partial} - \partial), \quad v := (dd^{c} ||z||^{2})^{m-1} \quad \text{and} \quad \sigma := d^{c} \log ||z||^{2} \wedge (dd^{c} \log ||z||^{2})^{m-1}.$$

Let F be a nonzero holomorphic function on \mathbb{C}^m . For each $a \in \mathbb{C}^m$, expanding F as $F = \sum P_i(z-a)$ with homogeneous polynomials P_i of degree i around a, we define

$$v_F(a) := \min\{i : P_i \not\equiv 0\}.$$

Let φ be a nonzero meromorphic function on \mathbb{C}^m . We define the divisor v_{φ} as follows: For each $z \in \mathbb{C}^m$, we choose nonzero holomorphic functions F and G on a neighborhood U of z such that $\varphi = \frac{F}{G}$ on U and $\dim(F^{-1}(0) \cap G^{-1}(0)) \leq m-2$ and then we put $v_{\varphi}(z) := v_F(z)$.

Let ν be a divisor in \mathbb{C}^m and let k, M be positive integers or $+\infty$. Set $|\nu| := \{\overline{z : \nu(z) \neq 0}\}$ and

$$e^{\leq M} v^{[k]}(z) = 0$$
 if $v(z) > M$ and $e^{\leq M} v^{[k]}(z) = \min\{v(z), k\}$ if $v(z) \leq M$, $e^{>M} v^{[k]}(z) = 0$ if $v(z) \leq M$ and $e^{>M} v^{[k]}(z) = \min\{v(z), k\}$ if $v(z) > M$.

The counting function is defined by

$$\leq^M N^{[k]}(r, v) := \int_1^r \frac{\leq^M n(t)}{t^{2m-1}} dt$$

and

$$^{>M}N^{[k]}(r,v) := \int_{1}^{r} \frac{^{>M}n(t)}{t^{2m-1}} dt \quad (1 \le r < +\infty)$$

where

$$^{\leq M} n(t) := \int_{|v| \cap B(r)} ^{\leq M} v^{[k]} . v \quad \text{for } m \geq 2, \quad ^{\leq M} n(t) := \sum_{|z| \leq t} ^{\leq M} v^{[k]}(z) \quad \text{for } m = 1$$

 $^{>M}n(t):=\int_{|v|\cap B(r)}{}^{>M}v^{[k]}.v\quad\text{for }m\geq 2, \quad ^{>M}n(t):=\sum_{|z|\leq t}{}^{>M}v^{[k]}(z)\quad\text{for }m=1.$ For a nonzero meromorphic function φ on \mathbf{C}^m , we set $^{\leq M}N_{\varphi}^{[k]}(r):={}^{\leq M}N^{[k]}(r,v_{\varphi})$

and ${}^{>M}N_{\varphi}^{[k]}(r):={}^{>M}N_{\varphi}^{[k]}(r,\nu_{\varphi})$. For brevity we will omit the character ${}^{[k]}$ (respectively ${}^{\leq M}$) in the counting function and in the divisor if $k=+\infty$ (respectively $M=+\infty$).

Let $f: \mathbb{C}^m \to \mathbb{C}P^n$ be a meromorphic mapping. For arbitrary fixed homogeneous coordinates $(w_0:\ldots:w_n)$ of $\mathbb{C}P^n$, we take a reduced representation $f=(f_0:\ldots:f_n)$ which means that each f_i is a holomorphic function on \mathbb{C}^n and $f(z)=(f_0(z):\ldots:f_n(z))$ outside the analytic set $\{f_0=\cdots=f_n=0\}$ of codimension ≥ 2 . Set $\|f\|=(|f_0|^2+\cdots+|f_n|^2)^{1/2}$.

The characteristic function of f is defined by

$$T_f(r) = \int_{S(r)} \log ||f|| \sigma - \int_{S(1)} \log ||f|| \sigma, \quad 1 \le r < +\infty.$$

For a meromorphic function φ on \mathbb{C}^m , the characteristic function $T_{\varphi}(r)$ of φ is defined by considering φ as a meromorphic mapping of \mathbb{C}^m into $\mathbb{C}P^1$.

The proximity function $m(r, \varphi)$ is defined by

$$m(r, \varphi) = \int_{S(r)} \log^+ |\varphi| \sigma,$$

where $\log^+ x = \max\{\log x, 0\}$ for $x \ge 0$. Then

$$T_{\varphi}(r) = N_{1/\varphi}(r) + m(r, \varphi) + O(1).$$

We say that φ is "small" with respect to f if $T_{\varphi}(r) = o(T_f(r))$ as $r \to \infty$ (outside a set of finite Lebesgue measure). Denote by \mathscr{R}_f the field of all "small" (with respect to f) functions on \mathbb{C}^m .

Let f, a be two meromorphic mappings of \mathbb{C}^m into $\mathbb{C}P^n$ with reduced representations $f=(f_0:\ldots:f_n),\ a=(a_0:\ldots:a_n).$ Set $(f,a):=a_0f_0+\cdots+a_nf_n$. We say that a is "small" with respect to f if $T_a(r)=o(T_f(r))$ as $r\to\infty$ (outside a set of finite Lebesgue measure). We say that f is linearly non-degenerate over \mathscr{R}_f if f_0,\ldots,f_n are linearly independant over \mathscr{R}_f .

Let a_1, \ldots, a_q $(q \ge n+1)$ be meromorphic mappings of \mathbb{C}^m into $\mathbb{C}P^n$ with reduced representations $a_j = (a_{j0} : \ldots : a_{jn}), \ j = 1, \ldots, q$. We say that $\{a_j\}_{j=1}^q$ are in general position if for any $1 \le j_0 < \cdots < j_n \le q$, $\det(a_{j_k i}, 0 \le k, i \le n) \not\equiv 0$.

We state the First and Second Main Theorems of Value Distribution Theory:

FIRST MAIN THEOREM. Let a be a meromorphic mapping of \mathbb{C}^m into $\mathbb{C}P^n$ such that $(f,a) \not\equiv 0$ then

$$N_{(f,a)}(r) \leq T_f(r) + T_a(r)$$
 for all $r \geq 1$.

As usual, by the notation " \parallel P" we mean the assertion P holds for all r > 1 outside a set of finite Lebesgue measure. For a hyperplane $H: a_0w_0 + \cdots + a_nw_n = 0$ in $\mathbb{C}P^n$ with im $f \nsubseteq H$, we denote $(f, H) = a_0f_0 + \cdots + a_nf_n$.

SECOND MAIN THEOREM. Let f be a linearly nondegenerate meromorphic mapping of \mathbb{C}^m into $\mathbb{C}P^n$ and H_1,\ldots,H_q $(q\geq n+1)$ hyperplanes of $\mathbb{C}P^n$ in general position, then

$$\| (q-n-1)T_f(r) \le \sum_{j=1}^q N_{(f,H_j)}^{[n]}(r) + o(T_f(r)).$$

3. Uniqueness theorem

MAIN THEOREM. Let f, g be nonconstant meromorphic mappings of \mathbb{C}^m into $\mathbb{C}P^n$. Let $\{H_j\}_{j=1}^q \ (q \geq 3n+2)$ be hyperplanes in $\mathbb{C}P^n$ in general position such

$$\dim(f^{-1}(H_i) \cap f^{-1}(H_i)) \le m - 2$$
 for all $i, j \ (1 \le i < j \le q)$.

Assume that f and g are linearly nondegenerate over \mathcal{R}_f and

- (a) $\min\{v_{(f,H_j)}, n\} = \min\{v_{(g,H_j)}, n\}$, for all $n+2 \le j \le q$, and (b) f = g on $\bigcup_{j=1}^{n+1} (f^{-1}(H_j) \cup g^{-1}(H_j))$.
- Then $f \equiv g$.

In order to prove the above Theorem, we need the following Lemmas.

LEMMA 3.1. Let $f: \mathbb{C}^m \to \mathbb{C}P^n$ be a nonconstant meromorphic mapping and $\{a_i\}_{i=1}^q \ (q \ge n+2)$ be "small" (with respect to f) meromorphic mappings of \mathbb{C}^m into $\mathbb{C}P^n$ in general position. Assume that f is linearly nondegenerate over \mathcal{R}_f . Then

$$\| \frac{q}{n+2} T_f(r) \le \sum_{i=1}^q N_{(f,a_i)}^{[n]}(r) + o(T_f(r)).$$

Proof. We refer to ([9], Theorem 3.1) ([6], Theorem 2.3).
$$\Box$$

Lemma 3.2. Let $f, g: \mathbb{C}^m \to \mathbb{C}P^n$ be two nonconstant meromorphic mappings. Assume that f and g are linearly nondegenerate over \mathcal{R}_f . Let $\{a_i\}_{i=1}^q,\ (q \ge 2n+3)\ be$ "small" (with respect to f) meromorphic mappings of \mathbb{C}^m into $\mathbb{C}P^n$ in general position. Assume that the followings are satisfied (i) $\|N_{(f,a_i)}^{[1]}(r) = o(T_f(r))$ and $\|N_{(g,a_i)}^{[1]}(r) = o(T_f(r))$, for all $i \in \{1,\ldots, n\}$

- (ii) $\min\{v_{(f,a_i)},n\} = \min\{v_{(g,a_i)},n\}$ for all $i \in \{n+2,\ldots,q\}$. (iii) $\dim\{z \in \mathbf{C}^m : v_{(f,a_i)}(z) > 0 \text{ and } v_{(f,a_j)}(z) > 0\} \le m-2$, for all $n+2 \le m-2$ $i < j \le q$.

Then $f \equiv g$.

Proof. By the assumption i) we have

$$\parallel N_{(f,a_i)}^{[n]}(r) = o(T_f(r))$$
 and $\parallel N_{(g,a_i)}^{[n]}(r) = o(T_f(r))$, for all $i \in \{1,\ldots,n+1\}$. Thus, by Lemma 3.1 and by the First Main Theorem, we have

$$\| \frac{2n+3}{n+2} T_f(r) \le \sum_{i=1}^{2n+3} N_{(f,a_i)}^{[n]}(r) + o(T_f(r))$$

$$= \sum_{i=1}^{2n+3} N_{(f,a_i)}^{[n]}(r) + o(T_f(r))$$

$$= \sum_{i=n+2}^{2n+3} N_{(g,a_i)}^{[n]}(r) + o(T_f(r))$$

$$\leq (n+2)T_g(r) + o(T_f(r)).$$

This implies that

(3.1)
$$|| T_f(r) \le \frac{(n+2)^2}{2n+3} T_g(r) + o(T_f(r)).$$

On the other hand $\| T_{a_i}(r) = o(T_f(r))$. Hence, $\| T_{a_i}(r) = o(T_g(r))$. So, similarly we have

(3.2)
$$|| T_g(r) \le \frac{(n+2)^2}{2n+3} T_f(r) + o(T_g(r)).$$

By (3.1) and (3.2), we have

$$|| T_f(r) = O(T_g(r))$$
 and $|| T_g(r) = O(T_f(r))$.

By Lemma 3.1, for each $i \in \{n+2, \dots, 2n+3\}$, we have

(3.3)
$$\| T_f(r) \le \sum_{j=1}^{n+1} N_{(f,a_j)}^{[n]}(r) + N_{(f,a_i)}^{[n]}(r) + o(T_f(r))$$

$$= N_{(f,a_i)}^{[n]}(r) + o(T_f(r)) \le N_{(f,a_i)}(r) + o(T_f(r)).$$

On the other hand, by the First Main Theorem, we have

$$|| N_{(f,a_i)}(r) \le T_f(r) + o(T_f(r)).$$

Hence,

$$|| N_{(f,a_i)}(r) \le N_{(f,a_i)}^{[n]}(r) + o(T_f(r)).$$

This implies that

$$(3.4) || N_{(f,a_i)}^{[n]}(r) + \frac{1}{n+1} {}^{>n} N_{(f,a_i)}(r) \le N_{(f,a_i)}(r) \le N_{(f,a_i)}^{[n]}(r) + o(T_f(r)).$$

By (3.3), (3.4) and by the First Main Theorem, for each $i \in \{n+2, \dots, 2n+3\}$, we have

(3.5)
$$\| ^{>n} N_{(f,a_i)}(r) = o(T_f(r)) \text{ and }$$

$$\| T_f(r) = {}^{\leq n} N_{(f,a_i)}^{[n]}(r) + o(T_f(r)) = N_{(f,a_i)}(r) + o(T_f(r)).$$

Similarly, for each $i \in \{n+2, \dots, 2n+3\}$, we have

(3.6)
$$\| ^{>n}N_{(g,a_i)}(r) = o(T_g(r)) \text{ and }$$

$$\| T_g(r) = {}^{\leq n}N_{(g,a_i)}^{[n]}(r) + o(T_g(r)) = N_{(g,a_i)}(r) + o(T_g(r)).$$
Set $\beta_{ij} = \frac{(f,a_i)}{(g,a_i)} \cdot \frac{(g,a_j)}{(f,a_i)} \quad (n+2 \leq i \leq j \leq q).$

We now show that $\beta_{ij} \in \mathcal{R}_f$. We have

$$\| m\left(r, \frac{(f, a_i)}{(f, a_j)}\right) = T_{(f, a_i)/(f, a_j)}(r) - N_{(f, a_j)/(f, a_i)}(r) + O(1)$$

$$\leq T_f(r) - N_{(f, a_j)}(r) + O(1) = o(T_f(r))$$

and

$$\| m\left(r, \frac{(g, a_i)}{(g, a_j)}\right) \le T_g(r) - N_{(g, a_j)}(r) + O(1) = o(T_g(r)),$$

for all $n + 2 \le i \le j \le q$. This implies that

$$\| m(r, \beta_{ij}) \le m\left(r, \frac{(f, a_i)}{(f, a_j)}\right) + m\left(r, \frac{(g, a_j)}{(g, a_i)}\right) + O(1) = o(T_f(r)).$$

On the other hand by (3.5), (3.6) and by the assumption ii) we have

$$\|N_{1/\beta_{ij}}(r) \le {}^{>n}N_{(g,a_i)}(r) + {}^{>n}N_{(f,a_j)}(r) = o(T_f(r)), \text{ for all } n+2 \le i \le j \le q.$$
 Hence,

$$\parallel T_{\beta_{ij}}(r) = m(r, \beta_{ij}) + N_{1/\beta_{ij}}(r) + O(1) = o(T_f(r)), \text{ for all } n+2 \le i < j \le q.$$

This means that $\beta_{ij} \in \mathcal{R}_f$.

Set
$$\frac{(f, a_{n+2})}{(g, a_{n+2})} = h$$
. We have

(3.7)
$$(f, a_j) = \frac{h}{\beta_{(n+2)j}} \cdot (g, a_j) \quad (n+2 \le j \le 2n+3).$$

Set

$$P := \begin{pmatrix} a_{(n+2)0} & \cdots & a_{(2n+2)0} \\ \vdots & \ddots & \vdots \\ a_{(n+2)n} & \cdots & a_{(2n+2)n} \end{pmatrix},$$

and matrices P_i $(i \in \{n+2, \dots, 2n+2\})$ which are defined from P after changing

the
$$(i-n-1)^{th}$$
 column by $\begin{pmatrix} a_{(2n+3)0} \\ \vdots \\ a_{(2n+3)n} \end{pmatrix}$. Put $u_i = \det(P_i)$, $u = \det(P)$.

It is easy to see that

$$(f, a_{2n+3}) = \sum_{i=n+2}^{2n+2} \frac{u_i}{u}(f, a_i)$$
 and $(g, a_{2n+3}) = \sum_{i=n+2}^{2n+2} \frac{u_i}{u}(g, a_i)$.

Combining with (3.7), we get

$$\sum_{i=n+2}^{2n+2} \frac{u_i}{u}(f, a_i) = (f, a_{2n+3}) = \frac{h}{\beta_{(n+2)(2n+3)}} \cdot (g, a_{2n+3}) = \frac{h}{\beta_{(n+2)(2n+3)}} \sum_{i=n+2}^{2n+2} \frac{u_i}{u}(g, a_i)$$

$$= \sum_{i=n+2}^{2n+2} \frac{u_i \cdot \beta_{(n+2)i}}{u \cdot \beta_{(n+2)(2n+3)}} (f, a_i).$$

Thus,

$$\sum_{i=n+2}^{2n+2} \left(1 - \frac{\beta_{(n+2)i}}{\beta_{(n+2)(2n+3)}}\right) \cdot \frac{u_i \cdot (f, a_i)}{\prod_{j=n+2}^{2n+3} a_{jt_j}} = 0,$$

where a_{jt_j} is the first element of a_{j0},\ldots,a_{jn} not identically equal to zero $(j\in\{n+2,\ldots,2n+3\})$. It is clear that $\frac{a_{ji}}{a_{jt_j}}\in\mathscr{R}_f$ $(i\in\{0,\ldots,n\},j\in\{n+2,\ldots,2n+3\})$. Thus, since f is linearly nondegenerate over \mathscr{R}_f and $\{a_i\}_{i=1}^q$ are general position, we have $\beta_{(n+2)(n+2)}=\cdots=\beta_{(n+2)(2n+3)}$. On the other hand $\beta_{(n+2)(n+2)}=1$. Hence, $\frac{(f,a_{n+2})}{(g,a_{n+2})}=\cdots=\frac{(f,a_{2n+3})}{(g,a_{2n+3})}$. This implies that $f\equiv g$.

Proof of Main Theorem. Assume that $f \not\equiv g$.

We may assume that, after a suitable change of indices in $\{n+2,\ldots,q\}$, we have

$$\underbrace{\frac{(f,H_{n+2})}{(g,H_{n+2})}}_{\text{group 1}} \equiv \underbrace{\frac{(f,H_{k+2})}{(g,H_{k+2})}}_{\text{group 2}} \equiv \cdots \equiv \underbrace{\frac{(f,H_{k_1})}{(g,H_{k_1})}}_{\text{group 2}} \not\equiv \underbrace{\frac{(f,H_{k_1+1})}{(g,H_{k_1+1})}}_{\text{group 2}} \equiv \cdots \equiv \underbrace{\frac{(f,H_{k_2})}{(g,H_{k_2})}}_{\text{group 3}} \not\equiv \cdots \not\equiv \underbrace{\frac{(f,H_{k_1})}{(g,H_{k_2-1}+1)}}_{\text{group s}} \equiv \cdots \equiv \underbrace{\frac{(f,H_{k_2})}{(g,H_{k_3})}}_{\text{group s}},$$

where $k_s = q$. Since $f \not\equiv g$, the number of elements of each group is at most n. For each $i \in \{n+2,\ldots,q\}$, we set

$$\sigma(i) = \begin{cases} i+n & \text{if } i+n \le q, \\ i+2n+1-q & \text{if } i+n > q. \end{cases}$$

It is easy to see that $\sigma:\{n+2,\ldots,q\}\to\{n+2,\ldots,q\}$ is bijective and $|\sigma(i)-i|\geq n$. This implies that $\frac{(f,H_i)}{(g,H_i)}$ and $\frac{(f,H_{\sigma(i)})}{(g,H_{\sigma(i)})}$ belong to distinct groups. Hence, we have

$$P_i = \frac{(f, H_i)}{(f, H_{\sigma(i)})} - \frac{(g, H_i)}{(g, H_{\sigma(i)})} \not\equiv 0 \quad (n + 2 \le i \le q).$$

Fix an arbitrary index i with $n + 2 \le i \le q$. By the assumptions (a) and (b), we have

$$v_{P_i} \ge v_{(f,H_i)}^{[n]} + \sum_{v=1}^{n+1} v_{(f,H_v)}^{[1]},$$

outside a finite union of analytic sets of dimension $\leq m-2$. It implies that

$$(3.8) N_{P_{i}}(r) \ge N_{(f,H_{i})}^{[n]}(r) + \sum_{v=1}^{n+1} N_{(f,H_{v})}^{[1]}(r)$$

$$= N_{(f,H_{i})}^{[n]}(r) + \frac{1}{2} \sum_{v=1}^{n+1} (N_{(f,H_{v})}^{[1]}(r) + N_{(g,H_{v})}^{[1]}(r)).$$

Set $v_i := \max\{v_{(f, H_{\sigma(i)})}, v_{(g, H_{\sigma(i)})}\}$. By the definition of P_i , it is clear that $v_{1/P_i} \le v_i$. This implies that

$$(3.9) N_{1/P_i}(r) \le N(r, \nu_i).$$

By the First Main Theorem, we have

$$m\left(r, \frac{(f, H_i)}{(f, H_{\sigma(i)})}\right) = T_{(f, H_i)/(f, H_{\sigma(i)})}(r) - N_{(f, H_{\sigma(i)})/(f, H_i)}(r) + O(1)$$

$$\leq T_f(r) - N_{(f, H_{\sigma(i)})}(r) + O(1).$$

Similarly,

$$m\left(r, \frac{(g, H_i)}{(g, H_{\sigma(i)})}\right) \le T_g(r) - N_{(g, H_{\sigma(i)})}(r) + O(1).$$

Then

$$\begin{split} m(r,P_i) & \leq m \bigg(r, \frac{(f,H_i)}{(f,H_{\sigma(i)})} \bigg) + m \bigg(r, \frac{(g,H_i)}{(g,H_{\sigma(i)})} \bigg) + O(1) \\ & \leq T_f(r) + T_g(r) - N_{(f,H_{\sigma(i)})}(r) - N_{(g,H_{\sigma(i)})}(r) + O(1). \end{split}$$

Hence, by (3.8), (3.9) and by the First Main Theorem we have

$$(3.10) N_{(f,H_{i})}^{[n]}(r) + \frac{1}{2} \sum_{v=1}^{n+1} (N_{(f,H_{v})}^{[1]}(r) + N_{(g,H_{v})}^{[1]}(r))$$

$$\leq N_{P_{i}}(r) \leq T_{P_{i}}(r) = N_{1/P_{i}}(r) + m(r,P_{i}) + O(1)$$

$$\leq T_{f}(r) + T_{g}(r) + N(r,v_{i}) - N_{(f,H_{\sigma(i)})}(r) - N_{(g,H_{\sigma(i)})}(r) + O(1).$$

Since $\min_{\{v_{(f,H_j)},n\}} \{v_{(g,H_j)},n\} = \min_{\{v_{(g,H_j)},n\}} \{j \geq n+2\}$, we have $v_i(z) - v_{(f,H_{\sigma(i)})} - v_{(g,H_{\sigma(i)})} + v_{(f,H_{\sigma(i)})}^{[n]} \leq 0$ on \mathbb{C}^m (note that $\sigma(i) \geq n+2$). It follows that

$$N(r, \nu_i) - N_{(f, H_{\sigma(i)})}(r) - N_{(g, H_{\sigma(i)})}(r) + N_{(f, H_{\sigma(i)})}^{[n]}(r) \le 0.$$

Hence, by (3.10) we have

(3.11)
$$\frac{1}{2} \sum_{v=1}^{n+1} \left(N_{(f,H_v)}^{[1]}(r) + N_{(g,H_v)}^{[1]}(r) \right) + N_{(f,H_i)}^{[n]}(r) + N_{(f,H_{\sigma(i)})}^{[n]}(r)$$

$$\leq T_f(r) + T_g(r) + O(1),$$

for all $n + 2 \le i \le q$.

This implies that

(3.12)
$$\frac{q-n-1}{2} \sum_{v=1}^{n+1} (N_{(f,H_v)}^{[1]}(r) + N_{(g,H_v)}^{[1]}(r)) + 2 \sum_{i=n+2}^{q} N_{(f,H_i)}^{[n]}(r)$$

$$\leq (q-n-1)(T_f(r) + T_a(r)) + O(1),$$

(note that $\sigma: \{n+2, \dots, q\} \to \{n+2, \dots, q\}$ is bijective). By the Second Main Theorem we have

$$\| (q-n-1)(T_{f}(r)+T_{g}(r)) \leq \sum_{i=1}^{q} (N_{(f,H_{i})}^{[n]}(r)+N_{(g,H_{i})}^{[n]}(r))+o(T_{f}(r))$$

$$= \sum_{i=1}^{n+1} (N_{(f,H_{i})}^{[n]}(r)+N_{(g,H_{i})}^{[n]}(r))$$

$$+ \sum_{i=n+1}^{q} (N_{(f,H_{i})}^{[n]}(r)+N_{(g,H_{i})}^{[n]}(r))+o(T_{f}(r))$$

$$\leq n \sum_{i=1}^{n+1} (N_{(f,H_{i})}^{[1]}(r)+N_{(g,H_{i})}^{[1]}(r))$$

$$+ 2 \sum_{i=1}^{q} N_{(f,H_{i})}^{[n]}(r)+o(T_{f}(r)).$$

Combining with (3.12) we have

$$\parallel \frac{q-n-1}{2} \sum_{r=1}^{n+1} (N_{(f,H_r)}^{[1]}(r) + N_{(g,H_r)}^{[1]}(r)) \leq n \sum_{i=1}^{n+1} (N_{(f,H_i)}^{[1]}(r) + N_{(g,H_i)}^{[1]}(r)) + o(T_f(r)).$$

On the other hand, $q \ge 3n + 2$. Hence, we get

$$\| \sum_{i=1}^{n+1} (N_{(f,H_i)}^{[1]}(r) + N_{(g,H_i)}^{[1]}(r)) = o(T_f(r)).$$

This implies that $\| N_{(f,H_i)}^{[1]}(r) = o(T_f(r))$ and $\| N_{(g,H_i)}^{[1]}(r) = o(T_f(r))$, for all $i \in \{1,\ldots,n+1\}$. Then, by Lemma 3.2 we have $f \equiv g$.

Acknowledgements. The authors would like to thank Professor Do Duc Thai for constant help and encouragement. We also would like to thank the referee for helpful comments.

REFERENCES

- [1] G. DETHLOFF AND T. V. TAN, Uniqueness problem for meromorphic mappings with truncated multiplicities and moving targets, Nagoya Math. J. 181 (2006), 75-101.
- [2] G. DETHLOFF AND T. V. TAN, Uniqueness problem for meromorphic mappings with truncated multiplicities and few targets, Annales de la Faculté des Sciences de Toulous 15 (2006), 217-242.
- [3] H. FUЛМОТО, Uniqueness problem with truncated multiplicities in value distribution theory, Nayoya Math. J. 152 (1998), 131-152.
- [4] H. FUJIMOTO, Uniqueness problem with truncated multiplicities in value distribution theory, II, Nayoya Math. J. 155 (1999), 161-188.
- [5] S. Ji, Uniqueness problem without multiplicities in value distribution theory, Pacific J. Math. **135** (1988), 323–348.
- [6] M. Ru, A uniqueness theorem with moving targets without counting multiplicity, Proc. Amer. Math. Soc. 129 (2001), 2701-2707.
- [7] L. SMILEY, Geometric conditions for unicity of holomorphic curves, Contemp. Math. 25 (1983), 149-154.
- [8] W. STOLL, On the propagation of dependences, Pacific J. Math. 139 (1989), 311-337.
- [9] D. D. THAI AND S. D. QUANG, Uniqueness problem with truncated multiplicities of meromorphic mappings in several complex variables for moving targets, Inter. J. Math. 16 (2005), 903-939.
- [10] D. D. THAI AND S. D. QUANG, Uniqueness problem with truncated multiplicities of meromorphic mappings in several complex variables, Inter. J. Math. 17 (2006), 1223-1257.

Khanh Trinh Bui DEPARTMENT OF MATHEMATICS HANOI NATIONAL UNIVERSITY OF EDUCATION 136 Xuan Thuy street CAU GIAY, HANOI VIETNAM

E-mail: trinhbuikhanh@yahoo.com

Duc Quang Si DEPARTMENT OF MATHEMATICS HANOI NATIONAL UNIVERSITY OF EDUCATION 136 Xuan Thuy Street CAU GIAY, HANOI VIETNAM E-mail: quangdhsp@yahoo.com

Van Tan Tran DEPARTMENT OF MATHEMATICS HANOI NATIONAL UNIVERSITY OF EDUCATION 136 Xuan Thuy Street CAU GIAY, HANOI

VIETNAM

E-mail: tranvantanhn@gmail.com